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201 er23 | 4,000 4,250 A250
01 At2teltl 4,000 4,250 A250
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308 AXIHS0IA 215,000 275,000 60,000
01 HRHHBSEELS 165,000 225,000 260,000
Odli&==4tAHR MHe 54 A& 150,000
Odi 2012 & JHE| 15,000
13 SIS0t 4 A AS A 50,000 50,000 0
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e 275,000
= 350,000
308 XXM SOIA 350,000 350,000
01 XN B2 LS 350,000 350,000
Odi+==& otd2e| X3 350,000
403 MR HHMSAHE01H 275,000 90,000 185,000
ES 275,000
01 AR A =2 £ 275,000 90,000 185,000
Odi+==& otd2e| XI& 275,000
e 275,000
LU MAE=NSTZ ) (HEALY) 91,000 91,000
308 XXM SOIH 91,000 91,000
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Otfus soEd dA2 c|2ad 150,000
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= 500,000
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O=M2EU=l Mzl Jlgtxd 9,000
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& 1,660,950
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= 7,751,000
& 1,660,950
01 AXISHHAEER 9,411,950 6,333,714 3,078,236
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=S 611,150
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201 2= 525,000 575,000 /50,000
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